Roview for Test #6 - Factoring
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Factor each polynomial completely.

) x*-49 2)  5x?+32x+35 3)  25x*-l144
(x-x+7) (B + DX+ ) (5%- 12)5%+12)
4)  1bx"+25 5)  x"-l4x+49 6)  25y*-36w’
e (x-1) (5 + ) (G- )
7)) x*-1Bx+30 8)  6xX°y+2x7y+bxy 9)  4x*- 45)( t
O S o R el
oy (x+)”
x> -9x-36 1) 6x*+9x>-60x" 2 '621;9 (i)il Iéi;qb 3}
R4~ bl
[
13) <2X5i72x > l4)  3Bx?+24x-27 l5.)!--|4)i5 —324)(}
_ y (o)

6)  8x"y+54x°y-14x>y 7)  x®>+2x*+8x+16 (& at i¢ a common Facforo

X4 %(X‘@b X% =25 and x> ~x-207?
&X J HX 9\7)( 7> FQP;Q;AF@J (¥-9)y+2)  (%- o))

A (4
o’q(< é\x DCRX’rD(x ) | @

Teolate x.

Q)  x+xr=b+ r 20) 4x+3ax-5=2

X(14)=btr 3oy T

)
@ )(X(Lf ‘rfm /




Anawers to Review for Tegt #6 - Factoring
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